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{2 K & 57 ouT IN GROSS | HDCP NET
B B R 8= SRR 44 48 92 21.6 70.4
B2 aR T R 40 43 83 12.0 71.0
SE3(i MR RE SRR 42 40 82 10.8 71.2
E==2Yivs ME @ BiA 43 42 85 13.2 71.8
8541 FI M7 R 40 48 88 15.6 72.4
2564 S EEET BiA 44 43 87 14.4 72.6
B Ba BF BiA 48 53 101 27.6 73.4
558 BE % SRR 40 47 87 13.2 73.8
9L D AR BA 45 51 96 21.6 74.4
5104 AREB f& BiA 51 51 102 27.6 74.4
B4 NG BEF NEF 48 53 101 26.4 74.6
1241 A Eth BiA 44 47 91 15.6 75.4
1347 =K BH BiA 45 51 96 20.4 75.6
1441 B B I 42 46 88 12.0 76.0
5515417 fRE A BiA 43 50 93 16.8 76.2
B1641 YITE i NEF 50 49 99 22.8 76.2
B174I 2 BKED SRR 47 50 97 20.4 76.6
5E184i YE  Es SRR 45 51 96 19.2 76.8
1947 FE #X SRR 40 46 86 8.4 77.6
552011 5K BF SR~ 49 49 98 20.4 77.6
2141 /NI B BiA 44 47 91 13.2 77.8
5522411 PH =i R 46 51 97 19.2 77.8
552341 AR #%th SRR 49 54 103 25.2 77.8
5524411 IR fE—EB BiA 46 50 96 18.0 78.0
5525417 Bk I R 47 48 95 16.8 78.2
552641 #H BH NEF 45 48 93 14.4 78.6
52741 RE 12D BiA 53 52 105 26.4 78.6
552811 Bk = R 53 57 110 31.2 78.8
5529411 Bl =& NEF 46 51 97 18.0 79.0
5530411 A+ A BiA 43 51 94 13.2 80.8
83141 BEK BIF A 54 52 106 25.2 80.8
5832111 Bl {Z R 56 59 115 33.6 81.4
583341 o SR~ 42 52 94 12.0 82.0
583441 B¥H B R 54 64 118 36.0 82.0
5835411 &l =7 BiA 50 52 102 19.2 82.8
583641 =2 & ERN 62 61 123 40.0 83.0
SB374 —B %3 BiA 60 63 123 40.0 83.0
553841 TAE IEX BiA 55 61 116 32.4 83.6
5839 MR BT R 53 57 110 25.2 84.8
54011 =R = SRR 59 64 123 37.2 85.8
41147 Bt 87 ERN 62 64 126 37.2 88.8
42417 EH OB SR~ 55 65 120 28.8 91.2
5B4341 BE @ SRR 70 66 136 40.0 96.0
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